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1 |HOSE OEF A=A 2HH ME2ELEA o2 GAE2 1280t ZEFSLEMEH 15
2 |HE|HA OtEF A= M2 MEEYA| OFZ T A2 1280t ZFT Y =A ) B1S
3 |SHRAAT OtEFL =AM HH MSEYA| OFZ T HA2 1280t ZF Y A2 B1S
4 | ~motAl MESEYA| OFZF HAZ 1280t ET Y= A2 B1S
5 |¥e2|A Hio| OjL|E = MEEYA Ot JAM2 1280tZEF L =AM B1E
RS MESEYA| OFZF HAZ 128OtET Y= AIZH) B1S
7 |OESLEA T FLHAG MEEYA Ot G2 1280tZEZL =AM 2 B1E
8 |Zd=2E2 ItEFLEMEH MEEYA| OtZT MAMZ 128OtZSYZ A2 B1S
9 (X oty A ME Or=Z T H42 126

10 |GS25 HArH=H ME Or= T Gz 124

11 |0F 3| 0f Mg otz o242 2

12 |2 L 7| Mg OtZ 3 HA24Z 915

13 | g4 5T ME Opz Hit242 15

14 (BEFHE7IA ME OFZT Y42 42 46 15 (8A48)

15 |Hl 2] =HEH Mg o= M2 2915

16 |Every day 7{I|(TH'Z TH 274 ) ME Orz 3 Hit2 62 2515

17 |2 2IAY 257 Mg o= Hitz8Z 10

18 |O|C|OFAH L] gAY ME OtZ3 dEHSE 13718

19 [=E{stet= Mg otz dEHSE 137

20 [GS25 OFZ AL ME OtZ dEHSE 121

21 | Ot =28 ME 0= 22112 38

22 [FRIFE OtZAEYE ME OtZF EEZE 163

23 |HE=7{m| OpE M AHE ME O FEHE 152

24 (Yo ZHYAHT) ME Oz EHE 149

25 [&0]Eotsto| | Mg OtZ YEZHZ 204 0|QHMQE 2062

26 | MmN Mg otz HA222 63

27 |32 TEE= A E MEEYA OtZ FEHZE 207 (1068 A XISHE7H
28 |GS25 G4tALZ2H ME OtZ dojitzE1Z 2115

30 (mt2|HbA e ot el ME O I8 E 120

31 | +E Hlo|#H 2| ME OtZ S22 65

32 |7thne MZ OtZS f4t2212 31-12 15




